
Given the random variables X and Y: 

- Fill in the last four columns of the table with: YES, NO, UNKOWN 

 
 

X and Y are 
Independent 

X and Y are 
Uncorrelated 

X and Y are 
Orthogonal 

E[X] is zero 

E[XY]=E[X]E[Y]   
  

 

E[XY]=E[X]E[Y] 
E[X]=0 

    

fXY(x,y)=fX(x)fY(y) 
   

 

fXY(x,y)=fX(x)fY(y) 
E[Y]=0 

    

fXY(x,y)=fX(x)fY(y) 
E[XY]=0 

   
 

E[XY]=E[X]E[Y] 
X and Y are jointly normal 

   
 

E[XY]=0 
   

 
E[XY]=0 
E[Y]=0 

    

E[Y]=0 
   

 
E[Y]=0 
X and Y are jointly normal 

   
 

CXY=0 
   

 

CXY=0 
X and Y are jointly normal 

    

E[XY]=0 
X and Y are jointly normal 

    

ρXY=0     

ρXY=0 
X and Y are jointly normal 

    

CXY=0 
E[Y]=0 

    

ρXY=0 
E[Y]=0 

    

E[XY]=0 
fXY(x,y)=fX(x)fY(y) 
E[Y]≠0 

    

CXY=0 
E[XY]=0 

    

 

mmsan
Nota adhesiva
yes (because of the definition)

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
las independientes no tienen porque ser uncorrelated, pero si no son independientes no son uncorrelated

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown (we dont have a way to prove that it is 0)

mmsan
Nota adhesiva
yes >(because of the definition)

mmsan
Nota adhesiva
yes (because ir it said there)

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes (because of the definition)

mmsan
Nota adhesiva
yes (definition)

mmsan
Nota adhesiva
yes ( definition)

mmsan
Nota adhesiva
unknown (we don´t know if it is 0)

mmsan
Nota adhesiva
unknown (we don´t know if it is 0)

mmsan
Nota adhesiva
yes (if they are uncorrelated and the E is 0, they are orthogonal)

mmsan
Nota adhesiva
yes (if it is independent, it is uncorrelated)

mmsan
Nota adhesiva
yes ( definition)

mmsan
Nota adhesiva
unknown ( aunque sea E[y] =0, nos esta preguntando por E[x], la cual no sabemos)

mmsan
Nota adhesiva

mmsan
Nota adhesiva
yes ( definition)

mmsan
Nota adhesiva
yes (if it is independent, it is uncorrelated)

mmsan
Nota adhesiva
yes (if they are uncorrelated and the E is 0, they are orthogonal)

mmsan
Nota adhesiva
volveremos otro día por lo de la normal

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown ( we know one of them is 0, but we don´t know if it is the E[x] y the one 0)

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown ( ya explicado mucho, por la multiplicacion puede ser solo E[y]=0, o tmb pueden ser los dos)

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown, but it must be 0

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
0

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknwon

mmsan
Nota adhesiva
unknwon

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
unknown

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
yes

mmsan
Nota adhesiva
unknwon

mmsan
Nota adhesiva
unknwon




